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Qus-1
Section-1

(ST &t yrg-Hwr- 30, 3H-02)
-1
1. ‘e R Fraas’ =1 afenfaa s
Define the ‘reaction rate constant’.

2. THER W QAW . EEd § 2 s dfaw | Hifse)

What do you understand by chemical equilibrium? Describe it in brief.

3. Y& GERU R T ?

- What is dry corrosion?

6. ‘fel-are-ver (kWh)' # gftafya wifeT |
Define ‘kilo-watt-hour (kWh)’.

7. 3Edd YU & YA WHSAET |

Explain the applications of concave mirror.

11. AFEH-S1 F1 § ? 3HH! Wi =re Hifag |
What is parthenogenesis? Explain it briefly.

12. R.TC F UH H IoI@. HIFWC | SLTAY I Hew F1 ® 2
Write the components of DNA. What is the importance of DNA?

13. ‘aredreast’ @ gitafed Sife U1 $9h HEc H1 Sooi@ i |

Define ‘transpiration’ and write its importance.
HIT-2 |
1. ‘@’ 9 YR g1 arel R B: fawm demstl =1 oivqa &= g ?

What will be the average of six consecutive odd numbers starting
from ‘a’?
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2. vt 3,7, 15, 31, 2, 127, 255 ® ‘2 & WM W HH-° d&A TN 2 2]
Which number will replace ‘?’ in the series 3, 7, 15, 31, ?, 127, 2557

\ |
3. A 9@ ST : (\/5+—L =97 (2]
V2
Find the value (J'z_ 1Y 9
ind the v . b | - ==
V2,
4. ‘‘frfeet Toaved <wm:"’ fafa @ 2548 1 TF 7 T2 [2]

Using “Nikhilam Navatascharamam Dashatah’”’ method what wi»ll be the

complement of 25487

5. aff TFOEGW 1 #$ ‘SGNFFX’ ¥, @ fw® #s ‘OFNKBZ’ & ? [2]
If TFOEGW is coded as ‘SGNFFX’, then what will be coded as
‘OFNKBZ’? |

6. _%ﬁtmgmqﬁﬁwﬁm%m‘ﬁwﬁﬁqﬁwa—%ﬁu [2]
Express 2 to such an equivalent rational number whose denominator
is —35.

W -3 | : |

1. ®gX faeq & "l # gE TR [2]
Make the list of the components of computer system.

2. F9 ARYF ARfET fawenl & am fafau) [2]

Write the names of some popular operating systems.
3. qEAH § FYHHTT F FH-FH A YFR e £7 2]

What are the types of communication in technology?

6. uifefass fafayar war § 2 (2]

What is ecosystem diversity?
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7. Sfafavar # wfy % 9) R0 ferfEw)

Write four causes of the loss of biodiversity.
8. ﬁa—ﬁvaﬁmfma&fwm%?

Why is biogas regarded as best fuel?

9. Uem woifq ford wed ¥ 2w SeEw S

What is called alien species? Give one example.

10. ST & gAY § A9 T A § 2 T T e u @ fafe)

What do you mean by eutrophication of water-body? Write one harm of

eutrophication.
Qus -2
Section-2
- (I HT IIE-THT- 60, 3iH-04)
HIT-1

4. IgsH 1 GRU T R ? 3 SN Ufed GHIARY | SR Ah-A1 FH H
ST gehdt ® ?
What is corrosion of metals? Explain it with examples. How can it be

A

prevented?

8. vl & waNH & frami &1 swam X o3 °§ 4 B Tl & &9 guqed
- WY AT I
Using laws of combination of resistances, calculate the equivalent

resistance between A and B ends of the given figure :

4 Q
VWA
= amd'A'AY, VIW—e-
A4 3Q ~MA 50 B
4Q
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9. W@mmﬁm%WﬁﬁmWWWI

Draw ray diagrams of images formed by reflection of light from concave

and convex surfaces.

14. Wﬁﬁﬁm%mmwﬁmﬁmmﬁﬁfml

Describe the stages aﬁer pollination up to fertilization in angiosperms.

15. Wm%ﬁfwuﬁaﬂxwﬂ:wﬁmmﬁml

Describe different parts of human brain and their functions.

HT-2

T W%SZWﬁ@@ﬁﬁqﬁaﬁi‘ﬂ@wﬁmaﬂ%lm
N Wiawhd ® o 5% v ww ‘e e @

One card is drawn at random from a pack of 52 cards. What is the
probability that the card drawn is a face card?

8. @W@aﬁ%ﬁm‘mmmm%%mﬁ:@aww
1120 HieX B, O SWeh1 [%ad 41 =nm ? ‘

The breadth of a rectangular field is 60% of its length. If the perimeter
of the field is 1120 meters, what will be the area of the field?

9, mwﬁa%wﬁmﬁQ%uﬁaﬁmwmﬁaﬁmfawmaﬁ

?ﬂﬁ?@3,600’<7.mwmwiwaaﬁx%ﬁrq'aﬁ%m?«ﬁﬂé
FU H A i fhar ot ? |

A man took a loan from a bank at the rate of 9% per annum simple
interest. He had to pay Rs. 3,600 after 4 years. What was the amount of
loan borrowed by him for this period?

HIT-3

4. JEH wd YHvsd AN @@ © ?

What are primary and secondary memories?

(4]
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11. www%?mmmmmm%?
What is tidal energy? How is it produced?

1z.mw%mmmwamw@ammﬁ%w
fafam 1wy & 3% ot & off W e -

Write the names of any two bacterial and two protozoan diseases. Also

write the names of their causal organisms.

13. Heea= wefaEdl % fafe= Rl % W fafee

Write the names of various types of endangered species.

14, ﬁaﬁﬁwmm—mwmw%?amml

" What is ex-situ conservation of biodiversity? Give two examples.

@us-3
Section-3
| (3T Wt TE-Hwr- 100, 7 -08)
arT- 1 -
5. awwtéﬁ%?mﬂﬁﬁﬁahﬁﬁfwmmma@ﬁmm
s | |
What are polymers? Classify polymers with examples in brief on

dlﬁ'erent aspects. =,

10. SHqe <4, mmammﬁw@ﬁfwﬁaﬁaﬁaﬁmﬁ
I fafEa |

Differentiate between the images formed by plane mirror, concave mirror

and convex mirror at different positions.
16. wreu-grE @@ § 2 el @i 9fg | ofife, fsfifes den = &
g ddgq |

What are phytohormones? Describe the importance of auxin, gibberellin

and cytokinin in the growth of plants.

4]

(4]

[4]
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10. < W 4 91 B g ¥ 2021 ¥ fRY M 9 &1 dEema T wR-sna

mmw%

<9 B

TR - o e e ¥ e AR
() W B M W= R, A 4 F s feed T 22
(i) A% Fremht 7T W H F o w1 fhad whww tfus =

FW T ? X

(iii) %ﬂB,m_ﬂﬁwwmmﬁmmm%?

(v) < B IR W A4 ¥ wrem & v = e w1 sum =0 a2

8]

Following pie-charts represent the expenditure of two countries 4 and B

in the year 2021 :

culture

Entertain-
ment
120°

Country 4

[

0O,

R
?"@

-~ 2
>
Health 45
Oth

)

€T | Entertain-
expenses| ment
50° 72°

Country B

Study the above pie-charts and answer the following questions :

(!))  How many times is the expenditure on agriculture in country B as

compared to country A?

DI-04
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(i) How much more percentage of expenditure on entertainment the

residents of country 4 do as compared to that on agriculture?
(iij) How much percentage of expenditure the country B does on other

expenses to that of total expenses?

(iv) What will be the ratio of expenditures on health for country B and

country 4?

11. T et ¥ gy iR a1 fagm 7 s%aqquﬁﬁluﬁgﬁfaqu
1 9 wiex T @ wee fe S ¥, a9 9F (g T ) A 7
9 S ¥ IW wiedt § g HY AGN fehal ot ?
A bucket contains a mixture of milk and water in the proportion of
7 . 5. If 9 litres of the mixture is replaced by 9 litres of water, then the
ratio of the two liquids (milk and water) becomes 7 : 9. How much of

the milk was there in the bucket?

HT-3
5. =R ¥ gu deifme S F®n swEfE] § 2

What are the uses of information technology in communication?

15. Safafaea ¥ fF=l 91 9@ Aewl 991 TR B F SR W@ g9E @
- guiF ST
‘Describe any four main significances of biodiversity and four ‘main

effects of its loss.

16. TR o N OE? W OfRE yeR sa= %en ST ?? THH W@
3w e |

~ What is nuclear energy? How is it produced? Write its main uses

8]

8]

8]

8]
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QuE -4
Section-4‘ |
(3T &t w&g-TwT- 125, 3iw-10)
(wmﬁm—zﬁwzmm/OR%mﬁﬁqW’h
el @y g ¥ feredt 1 @ s 3w Ao
T - 2 | - .
12.Wm'm%aﬁﬁﬁmﬁaf@am%waﬁq: [10]
(i) SIS F W F IR el g o o A o o Fn A )
(ii) mmﬁmmmﬁ%mmﬁmaﬁﬁﬁm
SR €ifsa | -
(i) SRS G gy e faw w e ffa
(iv) ‘meﬁﬁﬂ'@W’mwﬁmﬂﬁml
v) R Y TR H R S ¥ faf e
Answer the following questions based on Indian mathematician Brahmagupta :

() When and where was Brahmagupta born and what was his father’s name?

(i)  Write the names of main works of Brahmagupta and give brief
information about them. |

(#id) Write a note on ‘main contributions of Brahmagupta in Mathematics’.

(iv)  Write a note on ‘main contributions of Brahmagupta in Astronomy’.

(v) Bhaskaracharya designated which titles to Brahmagupta?
HYqT/OR

(a) T T 33 1. weW F fawda am 64 fdt. wem % o
19ﬁ%ﬁaﬁ%|uﬁmseﬁq}.m%ﬁqﬂaawnﬁtﬁ.m
%Wz1ﬁ%ﬁwﬁbsﬂawﬁmwéﬂamﬁﬁw
@ HfTT (6]

(b) E:aﬁzﬁmmummwgémﬁﬁwﬁzﬁmw,é,&lo,12
@16W%Wﬂﬁ,ﬁ4ofqﬁzﬁaﬁmwww¢
i ? [4]
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(@) A boat travels 33 km upstream and 64 km downstream in 19 hours.
The same boat travels 36 km upstream and 72 km downstream in

21 hours. Find the speed of boat in still water and the speed of

stream.

(b)  Six bells started to ring simultaneously. If they rang at the intervals
of 4, 6, 8, 10, 12 and 16 seconds respectively, then how many

times they will ring together in 40 minutes?

@ us-5
Section-35
| (I W FE-HWT-175, 3iH-15)
(39 @us | - 1 ®3ﬁww'4mm/mz%smﬁﬁqwq%|
st HY WRT-1 9 3 | 1-1 W97 T IAT &0 A+ €1)
-1
17, @ wgEd W o SR | [15]
Descnbe the metallurgy of copper. -
BMHT/OR

et el F o 3 faf R sl faferd @ et e

Describe different types and methods of pollination in flowering plants.

HT-3

17. m%ﬁﬂwmwﬁmwmﬁmﬁfmmaﬁ
IRl : [15]
What do you mean by renewable energy resources? Explain its various

typeS'.

DI-04



[11]
3IET/OR
el TGEU M B ? THHR W@ FRUI, YuE ud fEm @ fafudi
Fuiq it |

What is radioactive pollution? Describe the main causes, effects and

control methods of it.
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